
 
 
 
 
 
 

Assambling Instruction Seite 1 von 1 
 
© 2024 Syslogic AG | All rights reserved 

Assembling Instruction Mounting Kit 
IPC/MKITCP-2F41 

Kit applicable for:  Compact4 “S&M-Family” mounting 
   Compact4 “SL&ML-Family” mounting 
   Compact8 “S&M-Family" mounting 
   Compact8 "SL&ML-Family" mounting 

 

Contains:  1xMEC/FG1211-1 aluminium plate 
   1xMEC/FG1212-1 aluminium plate (with earth pin) 
   1xhexagon Nut (M4) 
   4xscrews (M4 x 8mm) 
   2xserrated washer (M4) 

 

1 Assemble the Mounting kit on the bottom of the device with the delivered screws M4x8 in the intended Position. 

 

 

2 Mount the device on to the intended surface. 

 

Earth pin 

Fix screws M4x10 using 
PH2 screw driver (1.3NM) 

Mounting Kit 
Aluminium Plate 


